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Fe i WL m3 38.7 40 T3 A BN LR
s IR AR T
BHlLarrzy—rk 18N/mm2, t=0. 1m m2 49.0 49 (&)
27 Y—F m3,/m2 0.1
aryy—k 24N/mm2 m3 230.0 230 (&R
A& [H 4 =X 1.0 1
(1% 0)
A& [H 4 10m3 A [l 1.0 1 (%)
2 M HA T 4 10m3LA_E-50m351ifs [ 1.0 1 (TR H)
AR TR] AT B 4 50m3LA b ] 3. 3 (%)
210} SD345, D16 t 0. 941 0.94
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T = 1.0 1
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U SRR, ¥ L m2 4.9 5

L — e m2 212.0 210

U SRR (AR I ELPE) m2 71.6 70
e 2y 1.0 1
(1ﬁ D)

28 L FHE AT 2 2 5 Hhm2 316.4 320

BRI - A = 1.0 1 (%)
(1% D9)

R t 112. 06 112.1

BT t 69. 10 69. 1
a7 Y — ML ¢ 611030 & 114.0 114

a7 Y — ML ¢ 611030 fL/ &P 1.0

T H— D51 A/ & T 1.0

A TR G A/ T 1.0 1. 185kg/A
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A TR F VG A/ T .0 0. 283kg/ A<
a7 U — ML ¢ 354260 & .0 78
a7 Y — ML b 35%260 fL/ &P .0
T H— D25 A/ & T .0
A TR F VG A/ T .0 0. 160kg/4<
a7 J— ML ¢ 394590 & .0 108
a7 Y — ML ® 39%590 fL/ &P .0
T H— D29 A/ & T .0
A TR F VG A/ T .0 0. 412kg/ 4
a7 J— ML ¢ 424650 & .0 168
a7 Y — ML b 412%650 fL/ &P .0
T H— D32 A/ & T .0
M TR F VG A/ T .0 0. 494kg/ 4
T HALER T m2 .8 280
a7 Y —RMEob AT Co, HHR m3 .2 34
HETE ) U L HEA Co, HEMR m3/m3 1.0
a7 V= EEA (7T L= L— m3/m3 1.0 (&)
A (Coi) Ny 7R Y m3/m3 1.0 (&)
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FAF—71L—FL =V 1.0 1
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TAT—7 b — MR =X 1.0 1 FAF—=FV—F, MR T, Ryx
Eifga 7 ) —h 18N/mm2 m3 34. 1 34 €3
k=7 U—h 18N/mm2 m3 20. 2 20 (&)
] Ak 4 50m3 LA 1 [E] 1.0 1 (& [#)
ThiED T vl — D16 t 1. 042 1.04
HIl 7L $20  L=320mmFfE iL 386.0 386
FEIE B L A Co, sk m3 54. 3 54 34. 1+20. 2
a7 U — kA [TV T L—rv T L— m3 54.3 54 (F& /)
A (Comt Ny TRy m3 54.3 54 (&)
BOE B Comk m3 54.3 54 () RExgE T
FA F—7 1 — il t 44. 5 44.5 (&) ks
TAF—T b — N t 44.5 44.5
O - ALy AR Conk m3 54. 3 54 B X 5 CTOMIAS
+o5 T KE LD H = 1.0 1
(1% 9)
HEE D +r (1t+m9H) m3 198. 3 200 238/1.2
KB+ 5 B4R 1tmH 1% 238.0 238 BG4 CRE
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TG F 2 i e A BT 7 ] 1.0 1
R U= m3 198.3 200




HERER

- -
T 4| TERLTREH (BT WEMRTE s ——
rwer o) [TFECE B (G) M B () Bk ) sy B & - f i
FERL AL 5y BT 5 t AT 0.5
=
KETL =X 1
(14 D)
N TERIE - R & P 1
R 7 EER 2V 1
R P L
W E R B B X 1 (& [#)
I3
TER Y
I
IR A 2y 1
(1% D9)
B B4 S H-300, [LEAM (1115) m2 27.1 P1:22. 18+(22. 18%0. 22)
M ORAZL, BEL| (1E1E) m2 27.1 P1:22. 18+(22. 18%0. 22)
Bfire sty
Bt g oty
i L A =X 1
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BLar7y—h g ck=18N/mm* t=0.1m m’ 4.9
BLar ) — MR m° 4.9
WRLa 27—k g ck=18N/mm" m’ 38.7
ZfIbar 7 —h o ck=24N/mm?2 = -
®“iTbar 7)) — MR — I m” -
JEEJIRGES (K Sl K OMAN i) m” 141.7
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(D22 .=1.000) HEAM (AR VEHEL100AHTZ0) 28.3
HH I R Pl
HIFLEE30LL ES50LL T ¢ 500=2100 18
BIFLEE30LL F60LL T ¢ 32 0=450 -
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2 BERTR

EE RS
ca ) — MEFE
(EHR) (RE8)
Vo= 137.6  +  92.373
<
—
A = 97.5  + 114.5
PR (CHEE3.0m LA T I A A [ R y)
A = 71.6
- %% (SD345)
D16-D25 XI5
D29-D32 XI5
D51 XI5

230.0

212.0
71.6
9,154

9,234
24,518

kg
kg
kg

42,906

kg



2-DJE D
(=70 — MEFE (o ck=24N/mm?)

WERR JEC R
Ay = 1/2  X(2.300  +9.000) X 0.600 = 3.39
Ay = 9.000 X 1.500 = 13.5 2
Al = 16.9
i 98 JEC R
A = 1/2  X(2.760 +10.500) X0.700 = 464
Ay = 10.500 X 1.800 = 189 2
A2 = 235
R 7)) —MATE
AV 23.5 X 14.000 — 16.9 X11.000 - 13.754 X0.4 = 1376 °
(2) U m2
A = (10.500 +14.000) X2  X1.800 + 4.64 X2 = 97.5 2
(3)kHh (I = A R ER A R )
D16-D25 X [ 225 = 9,154 kg
D29-D32 X [ 225 = 9,234 kg
D51 X [ D25 = 24,518 kg
= 42,906 kg
FAAE T (SARR) D51 36 + 92 + 136 = 264 {EPT
AT
D29 = 40 fEFT
TVT VR D25 1.=290 = 116 »ff

KASEFT v B — 10 (BT AR a2 — w7 — D13 X 210)
n= 258 A FT = 258 A



4-D¥HL=azy—hr

A = 14.200 X10.700 - 11.200 X9.200

V = 48.900 x0.100

(4-2) L= 7)) — R

Al = 14.200 x0.100 + 14.200 x0.100

Ay = 10.700 x0.100 + 10.700 x0.100

(5)ar 7Y =k "YU T
WERR B (58575t = 0.4m)

L = 3.403 + 2.300 + 3.403
(RHZ)
V = 9.106 X11.000 X0.400

- 2.100 X 7.000 X 0.400

(BERR AR 12e )
(6) T HiLER

Al = 3.403 X11.000 X2 + 11.000

V (3.3507+0.600") =3.502
A2 = 16.9 X2

I 5 A0 e A

X1.500

48.9

4.9

2.8

2.1

X2

4.9

9.106

34.186

107.9

33.8

141.7

m

2



(DT T—H
BERRAZ ST > T —

a7 —MEFL (S ERE)
HIFLEE  30LA _60mmATii HI| FLIE 10024 F1100mmbEL T

¢ 32 0= 510 = 37 A
“TEAM (R 2 MHE)
kN/m’
HEAREKg/1004) =  [(D* - d° )X m X1/4 X L X1004] X 1200 X 1.09
CEIRUERD)
V o=  [( 0.032 2= 0.022 2 )X 7 X 1/4 X 0.510 X100 ]1X1200 X1.09
= 2829 kg
JEHRUE 75 7 HI T30

a7 —MEFL (S ERE)
HIFLEE 3004 _60mmATii HI| FLIE 10024 F1100mmbEL T

b 42 0= 650 = 168 A
<TEASE (=ARFRMHE)
kN/m*
HEARKe/1004) =  [(D* - d* )X n X1/4 X L X1004] X 1200 X 1.09
(HIRE0
Vo= [(0.042 2= 0.032 2 )X g X 1/4 X 0.650 X100 ]X1200 X1.09
= 4941 kg

e 7)) — MEIFL (&< ER)
HIFLEE  30LA_E60mmATH; HIFLE 10084 E1100mmbL T

¢ 39 0= 590 = 108 A
<TEAM (mARFT RHHE)
kN/m®
WEARKe/1004) = (D> - d® )X x X 1/4 X L X1004] X 1200 X 1.09
(RS0
Vo= [(0.039 2~ 0.029 % )X & x1/4 X 0.590 X100 ]x1200 X 1.09
= 4122 kg

e 7)) — MEIFL (&< ER)
HIFLEE  30LA_E60mmATH; HIFLE 10084 E1100mmbL T

¢ 35 0= 260 = 78 K
TEAM (=R RHHE)
kN/m®
WEARKe/1004) = (D> - d® )X x X 1/4 X L X1004] X 1200 X 1.09
(IR0
Vo= [(0.0352 0.0252% )X 5 X1/4 X 0.260 X100 ]X1200 X1.09

= 16.03 kg



2-2)FE8
(=71 — METE

W 1 i (Al ts)

Ay = (n/4 X2.760 2 +6.900 X 2.760) = 25.027 2

A = (n/4 %2740 2 +6.900 X 2.740) = 24.802 2
(BERHR)

Ay = (n/4 X2.100 2 +4.900  X2.100) = 13.754 2
gz ) — MATE

A, = (25.027 -13.754) = 11.273 2

A, = (24.802 -13.754) = 11.048 2

Vo= 11.273 X3.000 +  11.048 X 5.300 = 92373 8
(2)UH%
—

A = 6.900 X3.000 X2 + 6.900 X5.300 X2 = 1145 2
PR CIEAR3.0m L FIZ A R )

A = 1 X260 X3.000 + 1 X2.740  X5.300 = 71.6 g2
(3) P L
FER (W T A D TED )

A, = 4900 X2  X8.665 = 84.9 p?

A, = x  X2.100  X8.665 = 57.2 P

BERRAETAR
THLEET YA = 142.1 2
AKX Sy 3% EEHERHMERE T (3.2.2 () B RAHAR T (70 — &L (B FYL)
BERAETAR
HEME R = 7.000 ,  SFEHAT L o= 2.100
c ( 20 UVIE. 2.5 Rk, 7.0 DLk, 7.5  LITF)
h = 8.300 = 83 m



B)YT v T —Hf
T —F T EFMT I — Bt

« 27 —RHIFL (a2 20 — RAEFLEE)
HIFLZE  60LL E100mmyi  HIFLE 5084 E1100mmBL

¢ 61 0= 1030 = 114 &
TEARS (AR R AétR)
kN/m’
EARGKe/1004) = [(D* - d® )X n X 1/4 X L X1004] X 1200 X 1.09
CEIHRED)
V o= [( 0.061 2~ 0.051 2 )X x X 1/4 X 1.030 X100 ]X1200 X1.09
= 11851 kg
BERRBEG T v 71 —

2 7) — ML TS CAHR)
AIFLEE 0L E60mmA  HIFLER 10084 E1100mmIL T

¢ 32 0= 510 = 58 A
REYN %} (=R Rt hR)
kN/m”
HEARGKe/1004) = [(D* - d® )X n X1/4 X L X1004] X 1200 X 1.09
CEIHERED)
Vo= [(0.0322- 0.0222% )X x X1/4 X 0.510 X100 ]X1200 X1.09
= 2829 kg

(6) 8k (XHEDN5)
PR ERIT ERROETE L

(7) =270 — RHIFL T K O\PC i
HIFLEE  30LL BES0LLF HIFLIE 30084 |

n = ¢50 0= 2100

n = 3+ 2+ 3+ 2+ 3+ 2+ 3 = 18 f#EfT
PCHitE #itf &

b 32 0= 2614 W = 6.63 kg/m

W =  6.63 kg/m  X2.614 X18 = 312.0 kg
FEARF (MEIVHEE /LA L) .
Vi=  ( 0.050 2- 0032 2 )X g X1/4 X2.100 X18 = 0.044 m

KT S EE [ 250%90%9%13]
0= 2.800 0= 1.600 W = 40.2 kg/m
W =  40.2 ke/m  X2.800 X8 +  40.2 keg/m  X1.600 X6
= 1286.4 kg
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2180 || | loga0 | [T]. 2180 _ . [ 10500 .
32g__:__ | |9000 | || 320 3870 3%/ 2100 32p 3880
:__20_00__ | | 7000 ||| 2500 _ by sampessin ( 932 5
: _1050_ | 4900 10501 chpa g smPosEH ( ©32 ) pr <
; , ! 4l ([T 2765H
g 330 i_ Sl 0 [ oo llese Ay t=0.4m ‘ - 330:‘ j_: 2 YE t=0.4m
re i 51 |8 Y = - ‘ o =
S R R s — S g &
% [ BN ' ' l L: 2403 .- 2300 3403 §‘ =l
8l XX, 7290. 730 ! o 1 oo | mv290.730 ~ =gt
#BRELaVSY—k - | 8000 - 5500 #mELaIZY—h
=0, 5m 2500 _|_ 11000 500, h=0.5m 100750 _ 9000 750100
100 14000 100 N 10500
I 91 I
BATX L =  (14.000  +0.500 X2) = 15.000
& B = (10.500  +0.500 X2) = 11.500
BERR JEE R
Ay = 1/2 X (2.100 +9.000) X 0.600 = 3.33 m?
Ay = 9.000 X 1.500 = 13.5 m?
Al = 16.8 m2
AR e it
Ay = 1/2 X(2.760  +10.500) X<0.700 = 4.64 m2
Ay = 10.500 x1.800 = 18.9 m2
A2 = 23.5 m2
(DIEAI A
(FEPHA; 2)5L0.3)
V, = 1/4 X(11.50 +11.800) X0.500 X(15.000 +15.300) = 88.2 me
V, = 9.000 X11.000  X0.500 = -49.5 °
(AR PERR)
vV = 38.7 m°
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QB RL (Pt REL Ta 27U —MERL)

2740

500

L

)1200_

V =
(31 PEE AP SR H T EL a7 — L THADOTRHIL
V, = 38.7
(4)F IR
A = 14.200  X10.700 - 9.200 X 11.200
e T
R — 4
1200500 | ' . 11900 | ll i 5001200 1200500
%7 L - I ¢ 7
— L i
i
|
i
|
:
I
:
:
= : §
i
|
I
|
|
I
|
i
E I L di e i
EEmEE
=
77 7 %
Z Fan BN
‘+\ ‘éﬁ /%’
7,
A = (2 X(11.900 +2.760) +8.8) X8.300

(R THE )

38.7
38.7 m’
48.9  p?

316.4  fm?



SAF—TL— FHERIER

BT
TfE AR Hirk HAAL PG aFt fii
SP-10 kg 8580 8580
747 =7 v—h Sp-7 kg 1228 1228
PL-6 kg 915 915
745 —7v—tL g ke 10723 10723
AR M16 X 30 ke 345 345
M16X 45 kg 442 442
INEE ke 787 787
FEIE H-250x250x9x 14 kg 29013 29013
iRy v /T kTR PL-250 X 12 X 440 kg 582 582
HEF AN b M20 X 60 kg 200 200
/NEE kg 29795 29795
Ui AL H-300x300x10x15 kg 6418 6418
AR RN H-300x300x10x16 | k8 2232 2232
) H-300x300x10x15 | k& 13530 13530
/NEE kg 22180 22180
kA EL kg 63485 63485
HoREay -} m3 34 34
1Ky )=} m3 20 20
74 F AL FHIED T v — A 386 386
FhiEdT v H— D6 kg 1042 1042
s HIEL m 124 124
KR RO 9 KD 5 % 938 938
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4 P S g oM % &
FAF—71L—Fh L=1570mm N= 330 330 #
SP-10 W=26. Okg/F

W= 330 X 26.0 8580 kg
Sp-7 L=1099mm N= 66 66 e
W=18. 6kg/4%
W= 66 X  18.6 1228 kg
PL-6 L=1008mm N= 44 44 e
W=20. 8kg /4%
W= 44 X 20.8 915 kg
A= 10723 ke
FEST AL B W=0. 137kg/A  [M16X30 = 2520 A
W= 0.137 X 2520 345 kg
W=0. 158kg/A  |M16X45 = 2800 A
W= 0.158 X 2800 442 kg
/NEF=| 787 kg
iRy 7 L=57726mm/E%¥ |W= 71.8 X 57.726 4144.7 kg/BE
4144.7 X 7T B 29013 kg
H-250x250x9x 14
W=71. 8kg/m
HEFAR PL-250X12X440|W= 56 #Hc X  10.4 582 kg
W=10. 4kg/#%
HEFHR L M20 X 60 (10. 9)
W=0. 297kg/ & AT [N= 672 672 PN
W= 672 X 0.297 200 kg
/NEF=| 29795 kg
AFk= 40518 kg




4 P B g B oY i iy
XL
YR L=5750mm 93.0 X 5.750 534.8 kg/AK
H-300x300x10x15 534.8 X 12 K 6418 kg
W=93. Okg/m
FR AT L=6000mm 93.0 X  6.000 558.0 kg/A
H-300x300x10x15 558.0 X 4 K 2232 kg
W=93. Okg/m
g L=4603mm 93.0 X  4.603 428.1 kg/A
H-300x300x10x15 428.1 X 8 K 3425 kg
W=93. Okg/m
L=15858mm 93.0 X 15.858 1474.8  kg/AK
1474.8 X 4 K 5899 kg
L=11305mm 93.0 X 11.305 1051.4  kg/&
1051.4 X 4 K 4206 kg
/NEF=| 13530 kg
AFk=| 22180 kg
Z A J—HHE
JEffEay ) —h 0.59 X 1.00 X 57.73 34.1 m3
1K) =} 0.35 X 1.00 X 57.73 20.2  m3
FHIdT > — |L=1200mm 2.3 X 1.200 2.7  keg/A
D16 2.7 X 386 A 1042 kg
W=2. 25kg/m
eIl L=320mm 0.3 X 386 123.5 m
WA L0 5 (m)
T i L E
BE#AMER 12.5 1.5 10
EBBWEAAM 6 3.5 4.75
B 5
K& 10%x4238m2
RELTDSEH 238 &%




